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LA L2¥H0rE LAASsOiR¥E N, EZO0|ZUXmisE V.

[ A A A A2l (21 |

Lifting Lug “ A
| 1,800mm | /m DETAIL “A
e QlkEBo| Z2F: 20 kN (BOXAHIEZZ Zg)
8 . * LUG Mx7HA @ 4 A
I T ®  orsse u m
/ XIRHQIEBOX . 700mm ® @LUGS| 712% : 80 mm
1,300mm (1Ton o:l’ L) ‘\\ L 10 @ @A=L HH: 19 mm
/ | @ PLATES| &7 © 12 mm
JINRIE A @ ® HOLE ¢£20| : 25 mm
@® © 24 10 mm
/) LIFTING BOX &M= LUG &K=
¥
24Tt XIS QUASHAMS
1) FEH(A) 1 1.3x0.7x2EAX0.012x7.85=0.171E = (RUIFANEE + 7S EI S ) xS A A15(50%)
2) FEHCH) 1 1.8x0.7x2EAX0.012x7.85=0.237E =(0.628E+1.05)x1.5
3) 2Ik: 1.8x1.3x0.012x7.85 = 0.22& =2.442E = 24KN (1tonf = 9.81KN)
A 0.628%
NOTE
[2{OHEAME]
1. 230 M, QI 2 XS0 ot A=HEE AlAISHTt
2. SEME o 2R RE AESITt
3. SO M| et TR ZHES AAISICH
4. Q15k=0] Chet 2112 ~&0f Cioto R UEE MA[SICt
X 22 IHEE 747 |E T UG (Q1E, MO, X2l oSt 18 S3)
2471 OFIAZE (fy=235Mpa2! B2)
P = 24kN / 4 EA = 6kN
® Plate2| MTHAE(MERE) * Plate2| QIHAE(SHER)
t=kV/A Rt=N/A
=15X6,000N/(12X25) =6,000/(12X(80-230))
= 30 Mpa { Fs = 94 Mpa(=0.4fy) ......... OK = 10.0 Mpa { Fb = 141 Mpa(=0.6fy) ........ OK
* Plate?| QIMAE(MEEE) * Plate2| X|IUSHAE
=N/A RA=N/A
=6,000/(12X25) =6,000/ (19X 12)
= 20 Mpa { Fb = 141 Mpa(=0.6fy) ........ OK = 26.3 Mpa ( Fi = 235 Mpa(=fy) .......... OK
° Plate?| MHAE(SHEE) * DMSHHO| MOHE
t=kv/A fEZ0] =1=(80X2)-(10X2)=140
=15X6,000N/(12X(80-230)) t=V/Aw
=15 Mpa { Fs = 94 Mpa(=0.4fy) ......... OK =6,000/(7X140)
= 6.1 Mpa { Fs = 94 Mpa(=0.4fy) ......... OK
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Qo|oj2m EHatykE E2H 0|25 8(2T) )

5= 8 =8
A2 100%
0
(SOCket) THerS A%(Closed socket)  H|AfE AZ(Opened socket)  EIRIX| A% (Bridge socket)
e B8 24mm 0[5t: 95%
(Thimble) 2am 26mm =1t : 92.5%
1N 0
(Wedge) 75~90%
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